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1. Change -312°to radian measure in terms of 7. 0
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2. Change -—2%75 radians to degree measure. Round to the nearest tenth.
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3. Determine the angular velocity if 11.3 revolutions are completed in 3.9 seconds. Round

to the nearest tenth. .9 x 7 = 72T
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4. A gyroscope of radius 18 centimeters rotates 35 times per minute. Find the linear
velocity of a point on the edge of the gyroscope. Round to the nearest tenth.
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5. Anarc is 0.04 meters long and is intercepted by a central angle of % radians, Find the

diameter of the circle. Round to the nearest tenth.
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6. Find the area of sector if the central angle measures 225° and the radius of the circle is
11.04 meters. Round to the nearest tenth. 25T
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7. Write an equation of the cosine function with amplitude 20, period z , phase shift of 2n

and a vertical shift of 4. ZH' I L
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8. Write an equation for a cotangent function with period %, phase shift — E, and vertical
shift 4.
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9. State the amplitude, period, phase shift, and vertical shift for y = —sin(34 - %) * 2.
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10. Write the equation for the inverse of y = Arctan (x + 3).
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11. Evaluate Cos™ (+/3 /2).
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12. Evaluate sin (Cos’l(g) + Sin™ 0).




13. Write a sinusoidal function that models the monthly temperatures in Detroit, using t = 1
to represent January.

Jan  Feb Mar Apr May June July Aug Sept Oct Nov Dec
@3 27.1 358 482 595 69.1 ‘\7558) 72.1 646 534 414 302
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14. A tractor tire has a diameter of 6 feetamd-{S Tevolving at a Tate of 4o rpm. Att=0,a
certain point on the tread of the tire is at height 0.
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15. An oar floating on the water bobs up and down, covering a distance of 12 feet from its
lowest point to its highest point. The oar moves from its lowest point to its highest point

and back to its lowest point every 15 seconds. Write a cosine function with phase shift 0
for the height of the oar after t seconds. I
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Use the sine or cosine graph to find each value.

16. cos( _zﬁ' ) 17. sin(3 n) 18. csc(m)

0 O Wrdined




Graph each function.
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21. y =2sin(460 + g) _=
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